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% ik R 7 ff £H |
=SS 4 Eik | PR (kg) &5 (1) =il i 2l EE 1 (HA{T)
31200 (L3 734 43 43 43| BHN 17T
Y3015 |7 X 389 32 32 32| BN 123K

32600 |FEH 594 27 27 27 | B 227K

31800 |IZ 5 FLAE 27 10, 757 86 86 65| &M 1343
31950 HRAE 1,123 281 281 281 | BM dkg

31900 X 3, 704 756 432 432 BN Tkg

34400 k= k 40 9,418 238 238 227 | B 40kg

35210 # T v & XR0HE 4 864 216 216 216 | BN 4kg

35300 | E—2R 3 3,132 1, 080 1,080 972 | B 3kg

35303 RFvTEXALD 12 3, 499 486 486 173 | B 12kg

Y3033  ZEARAT 91| 5,972 | 194 32 22| BN 91kg
36200 FEaE 80 13,932 216 | 205 76 | B 80kg i
Y3044 B () 4| 130 32 32 32| BH 4kg |
33400 L& & 12| 1, 588 76 59 59 | B 248

33200 BV TFT— 1, 264 119 108 43 1 BAN 131

33300 | mv =z — 81 54 54 54 | BN 2kg

33300 |V my =Y — 659 32 27 11BN 2418

33303 AF 4w/ 7myal 10 4, 752 108 108 76| BN 5048

38100 A L\ =i ' 1 1,436 1,436 1,436 1, 436 | BN lkg

Y3017 &t 2| 2,387  1,404| 1,404 1,404 B %kg
36340 B LN EE 6] 1, 091 216 162 162 | BN bkg
40100 A A 4 432 11 11 11| &K 4018

41320 J\¥H 9 162 5 5 5 BN 301

41390 [EA A 60 5, 184 432 432 432 | BN 12% v b
41806 7= AinA 300 112, 320 2,160 1,944 1,080 | BN 604 — A
41806 7 Aini 370 57,132 1,620 432 378 | B 7%y b
41470  EFAMA 8 907 119 119 108 | BN 8kg
46108 I MEONE 68 65, 772 313 292 216 | B 22675y 7
71032 | K5 %F () 1, 404 54 54 32| B 30K |
71150  LiF 2,333 65 59 43| BN 413K

21173 [{OFEDbY 1, 080 11 11 11 5BH 1004
53456 | 727l 4 1,323 378 378 378 | BN 4kg

30100 7ZWZ A L 80 2, 052 54 22 22| BIRE 804

30100 7ZWVWZ A B 90 2, 862 378 270 270 |EIR B 94%

30200 A5 10 2, 160 1,080 1,080 1,080 B8R & 24— R
30200 75 2L 6 432 22 22 22 |[BEIR B 204 i
30300 A% L 90 10, 152 1,296 1,080 1,080 | B i 94— 2
30400 ZUE 5 10 2, 851 86 86 86 | # 7% 334% N
31100 H3E 165 5, 940 540 540 540 | IR 5 117 —2
33500 H 7 &% 1 238 22 22 22 |t [ 114

33810  HiEHE 4 2, 160 2,160 2, 160 2,160 EIRE 1r—=




| S - BEfhR A
a—FK shh Lk | SR (kg) &40 (M) sE | bE | om0 PE M (HAL)
33810 FHAHE 4 648 32 32 2 ERE 2048
Y5005 47KEAN 5 1,534 1,534 1,534 1,534 | K%y 1r—=
31700 ¥y 150 14, 580 1,080 972 - 864 |EEIR B 154 — =%
31800 EHNAKE 4 1, 350 70 70 65 | IR B 2048
031950 |FHRAX L 12 3, 888 1,080 1, 080 648 | FEIR B 44— 2
31900 X 5 2,376 324 216 216 EIRE 103K (500g)
32800 125 5 2,916 65 54 54 | IR 503
34400 k< b 7 2, 851 130 130 130 |REA 22/ 7
34460 I =L F & 10 6, 739 140 140 140 | EEIR B 48,3y 7
| 34100 BRI 2L 35 10, 584 1,728 1,728 1,29 EERE T —2R
34200 |1 4 378 378 378 38| AF¥Ta 1l
34200 |/ 20 3, 348 1,728 1,728 1,620 A% 24 —2R
34500 E—= M 6 6, 480 108 108. 108 | IR S 1604
36600 7-EnE L 80 8,640 | 2,160 2, 160 2,160 | by 45—
33400 L ¥ & 12 1, 296 54 54 54 | Ky 244H
33420 FY—rY—TLHR L 3 162 11 11 11 |%& 154
Y3096 L AHLRY—T 6 972 43 43 22 RS 1304%
38100 A= L7z 10 7,992 97 76 76 | =R 1008 7
31310  H9°3E 4 1,512 76 76 76 | 13 2048
31500 /AR 4 2,052 2, 052 2,052 2,052 |EIRE 17 —2A
31500 /AR 4 1, 296 65 65 65| FEIL S 2048
32500 | AHoIE 1 108 11| 11 11 |5 1038
37560 F3IT 1 2, 052 270 | 270 108 | K4y 1023y 7
38400 ZDEH 10 2, 808 28 28 28 |FEIR B 10048 ‘
38521 S L UE g 1, 296 43| 43 43 |1 308
38604 T U L XE 3 1, 944 65 65 65 | #2 if] 3048
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